
 
 
 

  
 
 
 

��������	
��
������������
��	�����������������	������
���	
��	��������
� ��� 

   "�#�����$�������� �
 	���%	"��$"&� '�
"����
��� 
Attitudes of Rubber Farmers towards Behaviors on Fresh Latex Purchasing of Village 

Middlemen in Patong Sub-District,  Hatyai District, Songkhla Province 
 

 
 
 
 
 
 

����&�   (� ��"� 

Chalinya    Praprom 

  

 

 

 

 

 
�������56�7��(8�����"�9:
�	
����9�
����"����#��(��&&����(������"���;<�� 

�������'�����5=���'��
�� 

�"����������
����������6 

A Minor Thesis Submitted in Partial Fulfillment of the Requirements 

for the Degree of Master of Arts in Agribusiness Management 

Prince of Songkla University 

2552 

 



 (2)

��:	�������56 ()*+,-./01234-53567898+:71-;0<=-.355>3755)?@AB0+BC7:719D
/01<;0,E7,+3F715GD)?H>I;?E7+J+-C7?F<5G-1 0C72K0H7DJHL; 
M)1H8)D91/F7 

 T#���7�� +719786F.+L7   N5G<5H> 
�������� 375M)D375OP53.M234-5 
 

 
                       	�'���6�7:(�9�
�                                                   �; �����������	� 
 
 

       ........................................................................      ................................................N5GO7+355>375 
            (RIE6;8:*79-57M75:S N5.LL7  2T.DUT>)           (RIE6;8:*79-57M75:S N5.LL7  2T.DUT>) 
 
 
 
                                                                               
                                                                                 ............................................................355>375  
                       (RIE6;8:*79-57M75:SN5)-V  <5H>>W) 
 
 
 

                                                                                     .............................................................355>375 
                                                                                     (501*79-57M75:S D5.9PO)LL7  (015)34S) 
 
 
                                                                                  ..................................................................... 
                                                                        (501*79-57M75:S D5.9>?I5XS 2M5.LM.5G-5G3IF) 
                                                       N5GO7+,XG355>375?5.H75HF)39I-5*.FN*79-5>H7?)XY.- 
                                                                                 97/78.67375M)D375OP53.M234-5 
 
 



 (3)

��:	�������56 ()*+,-./01234-53567898+:71-;0<=-.355>3755)?@AB0+BC7:719D 
 /01<;0,E7,+3F715GD)?H>I;?E7+J+-C7?F<5G-1 0C72K0H7DJHL;  
 M)1H8)D91/F7 
 T#���7�� +719786F.+L7  N5G<5H> 
�������� 375M)D375OP53.M234-5 
(U����9�
� 2551 
 

�������	 

 
375*]347+WB>W8)-VPN5G91,S2<A^0*]347 (1) F)34XG(719)1,>_FG2*54`3.M/01234-535

67898+:71<757  (2) 5IN_??375M)D375DE7+375RF.-_FG375MC7H+;7:+BC7:719D/01234-535
67898+:71<757  (3) NaMM):(W^>WRF-;05GD)?()*+,-./01234-53567898+:71-;0<=-.355>3755)?
@AB0+BC7:719D/01<;0,E7,+3F715GD)?H>I;?E7+ _FG (4) NaLH7375MC7H+;7:+BC7:719D/01234-535
67898+:71<757  UD:J6E/E0>IF(P-.:KI>. _FGN`>KI>.(W^23c?58?58>M73234-53567898+:71(W^2,:
MC7H+;7:+BC7:719DJHE<;0,E7,+3F715GD)?H>I;?E7+J+-C7?F<G-1 0C72K0H7DJHL; MC7+8+ 120 57: 
UD:J6E2Ne+_??90?V7>26.1U,5195E71 3758.2,57GHS/E0>IFJ6E9V.-.0:;711;7:_FG9V.-.f,9_,85S  

RF375*]347<?8;7 234-5359;8+JHL;2Ne+2<*HL.1 >W9V7+K7<9>59 07:P2TFW^: 42 Ng 
M?375*]3475GD)? N89./0+PN5.LL7 >W9>76.3J+,5)825A0+2TFW^: 4 ,+ 2Ne+8):_5117+2TFW^: 2 ,+ 
N5G30?076W<375(C798+:71<7572Ne+076W<HF)35E0:FG 79 >W57:fDE58>_FG57:fDEM73375(C7
98+:712TFW^: 22,520 _FG 16,495 ?7(-;02DA0+ 234-5355E0:FG 68 >WH+WB9.+ MC7+8+H+WB9.+2TFW^: 
248,843 ?7( 234-5359;8+JHL;3IE:A>M73O+7,752<A^0375234-5_FG9H35XS375234-52<A^0375
F1(P+J+98+:71 

234-535>W2+AB0(W^98+:71<7572TFW^: 31 f5; 07:P-E+:71<7572TFW^: 14 Ng 5E0:FG 58 ME7135WD
()B1H>D UD:>W0)-579;8+375_?;1RFN5GU:6+S5GH8;712ME7/0198+-;0,+35WD 60:40 fDE+BC7:712TFW^: 
64 3.UF35)>-;08)+ UD:RFRF.-5E0:FG 98 MC7H+;7:JHE<;0,E7,+3F71 2+A^01M73fDE5)?21.+9D()+(W 
2N05S2@c+-S+BC7:71_FG57,7(W^234-5359;8+JHL;fDE5)? 25 n 29% _FG 41 n 50 ?7(/3.3. 

234-53567898+:71>W()*+,-.-;0<=-.355>3755)?@AB0+BC7:719D/01<;0,E7,+3F71J+
5GD)?H>I;?E7+J+K7<58>0:I;J+5GD)?DW UD:234-535>W5GD)?()*+,-.DW>73J+N5G2Dc+ <;0,E7,+
3F71_ME1375NpD5)?@AB0+BC7:71F;81H+E7(P3,5)B1_FG375MC7H+;7:+BC7:713)?<;0,E7,+3F71(C7JHE
234-535>W21.+9DH>P+28W:+-F0D28F7 _-;>W5GD)?()*+,-.f>;9IEDWJ+N5G2Dc+<;0,E7,+3F712NpD
U0379JHE234-535>W0C7+7M-;050157,7fDE  



 (4)

NaLH7375MC7H+;7:+BC7:719D/01234-535(W^9C7,)L fDE_3; 375,.D2N05S2@c+-S2+AB0:71_HE1
2+A^01M73/)B+-0+3758)D,87>2/E>/E+_FG3756)^1+BC7H+)3MG35G(C7UD:RIE5)?@AB02<W:1qr7:2DW:89;1RF
JHEf>;fDE5)?,87>:P-.O55> 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 (5)

Minor Thesis Title  Attitudes of Rubber Farmers towards Behaviors on Fresh Latex 
Purchasing of Village Middlemen in Patong Sub-District,  

 Hatyai District, Songkhla Province 
Author Miss Chalinya Praprom 
Major Program Agribusiness Management 
Academic Year 2008 
 

Abstract 

 
The research is aimed to study (1) the social and economic features and pattern of fresh 

latex distribution of rubber farmers (2) patterns of production and distribution of fresh latex of 
rubber farmers (3) factors affecting farmersv attitude level towards behaviors on fresh latex 
purchasing of village middlemen (4) problems on farmersv fresh latex distribution. The 
secondary and primary data are applied in the study. The primary data were collected via the 
structured questionnaire to achieve 120 rubber farmers in Patong Sub-District, Hatyai District. 
The rubber farmers are defined as the ones who have sold fresh latex to village middlemen. The 
data are analyzed by the descriptive statistics and Chi-Square test. The results are summarized as 
details. 

Most of the farmers are female, married, and 42 years old in average. Their educational 
level is high vocational certificate/diploma. The average household members are 4 people. The 
average household workforce is 2 people. The farmers, 79%, do rubber plantations as their main 
career. The average total income is 22,520 baht a month. The average income from rubber 
plantations is 16,495 baht a month. The farmers, 68%, are in debt condition. The average debt 
amount is 248,843 baht. The farmers, loan, is financed by Bank for Agriculture and Agricultural 
Cooperatives for the investment in rubber plantations.    

The farmers own rubber plantations for 31 rais in average. The average age of rubber 
trees is 14 years old. The farmers, 58%, employ workforce for rubber tapping. The ratio of 
benefit sharing is 60:40. The tapped quantity is 64 kilograms a day in average. The outputs are 
sold to the middlemen due to cash payment and convenience to access. Most of the farmers 
achieve 25-29% dry rubber content (DRC). The selling price is 41-50 per kilogram. 
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The farmersv attitudes towards behaviors on fresh latex purchasing of village 
middlemen in the overall image is rated in the good level. The farmersv attitudes are in the very 
good level for the fact that the middlemen always notify the closing of fresh latex purchasing in 
advance. The latex distribution to the middlemen helps the farmers have revolving funds. 
However, the farmersv attitudes are bad for the fact that the middlemen give chance to the 
farmers for price negotiation. 

Problems and threats raised by the farmers are listed as the percentage calculation of 
dry rubber content (DRC). The weighing and measuring procedures are only implemented by the 
buyers, which may lead to injustice.    
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�
����������(+�I11��)��
���+�(+�������������
4��
�������6 ����1
�I=������C����4)
���12��
���
!2�����������3���� ��1��������3�
4��!�
+!1���	
��� �5
?�����
���������JC���1���7,!�
!2��������,��)5
)
����������C�J?������
7,!�
!2������1����3����)
>�6��+�(+���������
�������� 

 
1.2 ����������������	������ 

1) ��,�����3����3-�������4( ���3;��1�����3����5�6�6
�������)
�2������� 
�2��>����)�=� 1���6������� 

2) ��,�����3����������1������
�
�������������12��
���
!2�����������3����
5�6�6
���)
�,!
�+����3� 

3) ��,�����3����
4�������3����5�6�6
�������K�����(������7,!�
!2���������
���4
�4
����������(���
�
)
�,!
�+����3� 

4) ��,�����3��I11���+�(+�������������
4�������3����5�6�6
�������K�����(������
7,!�
!2������������4
�4
����������(���
�
)
�,!
�+����3� 

5) ��,�����3��I=�� ����C����4)
���12��
���
!2�����������3����5�6�6
���)

�,!
�+����3�    

 
1.3 ���!���	������ 

��
6�1����
�2��
��������
�
�,!
�+����3�  ���5�����������6�������H��
�(���6
���
+! 
1) �,!
�+����3�4���4�C(�C��(���
�
)
�2������� �.���)�=� 1.����� �6( 8 

�(���
�
 
2) ���5��� ��
��� ��3����5�6�6
��� �+��I11C��
12��
���������)
������
!2�

�����)�
���4
�4
����)
������(���
�
��,��4�12��
���������
!2������)�
���4
�4
����)

������(���
�
 

3) �����H
)
���6��4����?�
�(�� ��	
���6��4����?46�(��(��
J?���6����I11���
�

���4( ���3;��1 ����������������������12��
���
!2�����������3���������������
4��
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�����3����5�6�6
�������K�����(������7,!�
!2������������4
�4
����������(���
�
)

>���6( 

4) �����6����H��6��6(�
�(�� ��!������,�
(���4( 2552 L (+
�4( 2552   
 

1.4 ���#�$������	%�&	��'%(��� 
��4?46�(��
�+���
1���	
��� �5
?�����
���������JC���1���7,!����
!2������ ��(��8)5


����
6�1��
+!��	
��6
�
���)
��������K�����(������7,!�
!2���������)5
)
���6����
���
�������C�J?��+��6���������7,!�
!2������1����3����5�6�6
���)
>�6��+�(+���������
��� 
�6(8���
�6���
���>�4��;�+���+��6�
����(��8)5
��	
�
�(����,!���

)
����������()�
��3����
5�6�6
�����������6(��C�( ��,����
���2�
�1��������������
���7,!� 7���1���	
��� �5
?���
��3����5�6�6
�����	
�����(��    
 
1.5 ���	
*�+�� 
 ���4
�4
����)
������(���
�
)
������3�
+! �(��8�� ���4
��+���!�1C����7,!�����)

�(���
�
��,����7,!�
!2������1����3����5�6�6
�������6��6(������)�
���4
����7,!�
!2����
��)
������������,����)�
��� ����
 ����� 
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����� 2 

�	��������!���	� 
 

������3���,������
4�������3����5�6�6
�������K�����(������7,!�
!2���������
���4
�4
����������(���
�
)
�2������� �2��>����)�=� 1���6������� ��
���3���
��61���
�����������
6�1���+���+��6�
���
�
����M ��(�2�������
+! 

2.1) �8�
���-?�����������������
!2������ 
2.2) �
64������K3N+�+���+��6�
��������
4�� 
2.3) ��
6�1���+���+��6�
�� 

 

2.1 ��	��	�,��	�-.��/.��	��.	%�0�	�	��% 
)
��6�
�
+!��	
�������68�� �8�
���-?�����������������
!2������ ����������+��

�����
+! 
 2.1.1 ��	��	�,��	�-.�� 

  �����������	
�������+��������������������)�=���� �� )
�# 2551 ���(+
�
,!��+������������8�� 14,338,046 ���  ��>�4)�
������(+�
,!��+��������(���+��C�8�� 10,955,548 ��� 
7���(+�,!
�+�����(��!
�C��# �,!
�+���������6(������ (+���������(��!
 �
���� 2.84 ����# ��	
��(�1��
��������,!
�+��������������6���H6)
>�4�+��
 ���>�4��
,� 7���(+�,!
�+�����(��!
�
���� 24.61 
��� 80.22 ����# ��(�2���� ��6
>�4)�
�+�(+�,!
�+��������(���+��C� (+���������(��!


��(����+��
�
���� 0.80 ����#����
�!
  ��1���6���+�(+�
,!��+������������ 5 ��
������ ��
��� 1���6���C��3O�?J�
+ 
����� 
4���+J��(��5 ���� ������� (�2�
����
���3;��1�����3��, 25514) 

 ���(�-���������J��(5��������� (+�
6 

(����(�����!
 1�� 2,032,714 
�(������
 )
�# 2540 ��	
 3,136,993 �(������
 )
�# 2549 ��,�����(��!
�
���� 5.44 ����# ���(+
���(�-����������+�����(��!
1�� 1,837,148 �(������
 )
�# 2540 ��	
 2,771,673 �(������
       
)
�# 2549 ��,�����(��!
�
���� 5.32 ����# 1���H
��
6�� ����


���������,�������������	
���� 
 ��)5
)
��������+�� 182,020 �(������
 )
�# 2540 ��� 320,885 �(������
 )
�# 2549 ��,�
����(��!
�
���� 7.25 ����# ���(+��P����� 159,374 �(������
��� 249,895 �(������
)
�# 2540 
��� 2549 ��(�2���� (�2�
����
���3;��1�����3��, 2551�) 

2.2.2 ��	��	�,��	��.	%�0�	�	��% 
 )
��6�
�
+!��	
�������68�� 5���������12��
���
!2������ ��!
��
������7,!�
!2����

�� �I=��������7,!�
!2������ �8�
���-?��4�
!2������ ����������+�������
+! 
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 1) 5���������12��
���
!2������ 
 ��3����5�6�6
�����6
)�=���	
��3����������� ���
�!
5���������

12��
���
!2�����������3���� ��6
)�=�1�12��
���)�
��
���7,!�)
�(���
�
��,��2���)
�-�
+!
��3�������)�=���1���)�
�
�
���7,!�)
��61���6�� )
5�6� 4-5 �#�+����
(� ��3����5�6�6

���
��(�+�1�
2�������
!2��������12��
���)�
������4
�)
�����6
�+�)��
�4+���������2�������
������
��� �
,���1����4����
!2������)��
�4+�����������
����2�)�
���6��+��(��
��
2�(��2�
��	
���
���
!2�������+����4
����7,!� 1��
��
2�(�42�
6-4����	
���(������������
�+�1���
1��

!2������ ���12��
���
!2��������3����1�
2���12��
���)�
������4
� ����� ���(�-�
���� 
70 ����+��
���� 30 1�
2���12��
���)�
��� ����
�+����7,!�
!2������ �������C
���4����?
����2��6
��� ��,���2�������
�(46�
 (��
�� J��(J6�5, 2547) 

2) ��!
��
������7,!�
!2������ 
 )
������7,!�
!2������������4
�(+��!
��
����2��
�
��
 3 ��!
��
 4,� 6�J+

���+�(���)5
��( (�
+���� 7��+�(7���R�? ��������(�-�
,!������
� �������+�������
+! 
(��(�������(�����3��, 2551) 

2.1) 6�J+���+�(���)5
��( (�
+� 
 2.1.1 ��( (�
+� 

��	
������6����P�7 �(�(+�+ ����
GC
1�� ��	
��
���������6�
�����
���������������
��!�)

!2� �����S��? ��� �+�J�� )
�
������(+12��
��� 2 ��� ��	
�P�7
�����������(+46�(��
(�

�����( (�
+����(�- 30% 

2.1.2 6�J+���+�(���)5
��( (�
+� 
 )5
��( (�
+�5
���������� 30% 12�
6
 3 �� ����( ��(
!2� 50 ���� 

(������(��6
�+�12���	
�
��)5
) 1���
��( (�
+���
(�

���(�- 2% )5
��( (�
+���
(�

 2% 
12�
6
 10 7+.7+. ���
!2������ 1 ���� ��,����)
8
6�������
!2���� 8
6��� 2-3 ��� 

2.1.3 7��+�(7���R�? 
��	
����,��
����6 ���4H(��(,�
���,� (+����
�2�(�8�
 �����)



!2� ��������)
�����S��?��
��H�

�� )
�
������(+12��
�����	
���+��6���1C)
>�5
��+�(+
U��E� 

2.1.4 6�J+���+�(���)5
 7��+�(7���R�? 
���+�( 7��+�(7���R�?  2  5
�
��� ��(
!2 �4��� ����� ��
6
2�

 7��+�(7���R�?�+���(
!2���
6�����)
8
6�������
!2����8
6��� 2-3 ��� ��,�)��)
8���6(
!2�
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��� ��)5
 7��+�(7���R�?��(
!2���
6 1 ��6
 ���
!2���� 64 ��6
 ��
!2��
�� ����)�� 7��+�(7��
�R�?)
8���+��2��
6� ��� �������)�����(�-(�����
��1��2�)�
�����
+�6��
���
� 


��1��)5
����4(+��,�����3��>��
!2������)�
����
�
��
6���(+�I11���,�
 M 
�+�(+��6
�2�4�=)
������3��>��
!2���� �5�
 ���3�46�(�����)
������� >�5
����� M �5�
 
8
6�������
!2���� 8����H�
!2���� (+���+���� 1��
������� �����(����)�
�����������( �5�
 
���,����� )��(
 ��,���
 �������
��)

!2������,�
!2�����+�1����6��
6 �����6
�(�46���(
����)

!2�����+�����)
�>���+ �6��6(
!2����������(����4(+8
�(
!2����)�
��H6�+��C� 

2.2) ��������(�-�
,!������
� 
 ���(�-�
,!������
�)

!2��������
�������(K����� ������>�����(

���3-���
JC? ��6����C

 ���������+� ��(�����
!2����1�(+���(�-�
,!������
� ���6���          
20-45%  ���G�+�����(�- 35% 

��������(�-�
,!������
�(+��������6�J+ �����6�J+��
(+�������C��?)5
��,��46�(
��(���(����>�������
)�
�6���H6 ��������������4��)5
1��� ��6
46�(�(�
�2����8���
��
�!
 ��!
����
���6�J+���6��������������+�����C��?)5
 )
�+�
+!1�����68���G����+�
��()5
��
����)
�I11C��
(+ 2 6�J+ 4,�  
��������(�-�
,!������
� �����6��1���( ����4 (�(��
�
2�)�
)5
)
���7,!�����
,���1��(+46�(
4����4�,��
���) �����������(�-�
,!������
� �����5��� (��
�?�������(�����B
�6�5�5+�, 2551) 

2.2.1) ��������(�-�
,!������
� �����6��1���( ����4 
��������(�-�
,!������
� �����6��1���( ����4(+6�J+���6�����
+! 

1) )5

!2���� 1 ��6
 ��(
!2������ 2 ��6
 ���>���+� 2.1 
 

 
>���+� 2.1 ��������(�-�
,!������
� �����6��1���( ����4 
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 2) ��
!2�����+���(
!2���
6��)
�������6�1

!2�����

�������6���
6
��V�R���
��6��
,��������6���� ���>���+� 2.2 
 

 
>���+� 2.2 ��������(�-�
,!������
� �����6��1���( ����4 
 

3) 4���M 1C�(�( ����4������C�
�����
6���
4���
�
�
�( ����4��      
�( ����4�����+�4��!��
��� 1
�����6��!
(������C�
�����
6���
4��7!2��+�4��!� 1��)5
4���+����
��

4��!��C��
��4�-�
6� 3 ��4�-�+����
��
��	
���(�-�
,!������
����(������� ���>���+� 2.3 

 

 
   >���+� 2.3  ��������(�-�
,!������
� �����6��1���( ����4 
 

4) ����6��)

!2���� 1 ���� 1�(+���(�-�
,!������
���	
���(�������8
�
!2�
�����(�����+����� ���12�
6

!2����4�-���(�-�
,!������
� �H��(��8��
���(�-�
,!������
�)

������
!2������4��!�
�!
 ���>���+� 2.4 
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  >���+� 2.4 ��������(�-�
,!������
� �����6��1���( ����4 

2.2.2) ��������(�-�
,!������
� �����5���
!2��
�� 

��������(�-�
,!������
� �����5���
!2��
��(+��!
��
 ���
+! 
1) 5���
!2���� 50 ���(  ���4�,���5���5
������+�� ���>���+� 2.5 
2) ��
!2�����+�5�����
6��)��8
6�����(��
+�( ���1����6�
6������7���4 2% 

���>���+� 2.6 
3) �(,�����1����6�+��
6
2����+�)�
(+46�(�
��(����
 2 (�����(�� �
��)�


������
6�
!2� 2-3 4��!� ���>���+� 2.7 
 

 
>���+� 2.5 5���
!2���� 50 ���(  ���4�,���5���5
������+�� 
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   >���+� 2.6 ��
!2�����+�5�����
6��)��8
6�����(��
+�( ���1����6�
6������7���4 
2% ��������(�-�
,!������
� �����5���
!2��
�� 
 

 
>���+� 2.7 �(,�����1����6�+��
6
2����+�)�
(+46�(�
��(����
 2 (�����(�� �
��

)�
������
6�
!2� 2-3 4��!���������(�-�
,!������
� �����5���
!2��
�� 

 

4) �����)�
��H
)
 8��
6�����C==�����+�(+������46�(5,!
���(�-    
15 
��+ ���>���+� 2.8 
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>���+� 2.8 �����)�
��H
)
 8��
6�����C==�����+�(+������46�(5,!


���(�- 15 
��+ 
 
5) 
2���6����������
���
6��5����
6��4�,���5���5
������+�� ��
��������4�-

�
6� 2 �����J?�+���
4,�����?�7H
�?�
,!������
� ���>���+� 2.9  
 

 
>���+� 2.9 
2���6���������+���
���
6��5����
6��4�,���5���5
������+�� ��


�������� 4�-�
6� 2 �����J?�+���
4,�����?�7H
�?�
,!������
� 
 

3) �I=������C����4)
���7,!����
!2������ 
 ��������(�-�
,!������
� (DRC) ���(�-�
,!������
�)

!2������1�

���+��
��������(K����� �>������� �>����
 ��
JC?��� ��6����C

 ���������+� ��(����

!2������1�(+���(�-�
,!������
��������6��� 20-45 ����?�7H
�? ��� ���G�+��1������+����(�- 35 
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����?�7H
�? ��������(�-�
,!������
� �����5���)�
4���+��(�
�2� ���)5
�6��
�
�6��1������� 
��������H�+ ��3����5�6�6
����+�
2�
!2������(�12��
���(������46�(�(�(��
)16����������(�-
�
,!������
������
���7,!�1�8���
����	
J��(��,��(� (��(6���������?������, 2551)  

4) �8�
���-?�����4�
!2������ 
 ��4�
!2�������G�+�� - �����
��8��
 �2��>����)�=� 1���6������� )
��� 7 �#�+�

���
(� (+�������
6 

(�����!
���������
,���1�� 26.31 �������� ����()
�# 2545 ��	
 75.34 ���
����� ����()
�# 2551 �����������H��()
�# 2551 �+����
(� ��4�
!2������(+46�(��
�6
��	
�����
(��  ��(+��4�����C�8�� 98.23 �������� ����()
��,�
���O�4( ���������2��C����,���+�� 
32.56 �������� ����()
��,�
(+
�4( (������+� 2.1) �
6 

(��4�
!2������)
5�6��

�# 2552 
1�����(��!
 �
,���1����
�K��U
5�6�6
1���+������


�� �2�)�
���(�-
!2�����+�1�(��Z�
 ����

��

���� ���
�!
�(,��46�(�
�������
4
�����(������(�-��
4
�(+

��1���2�)�
(+��4�����(��!
  

 

�	�	���� 2.1 ��4�
!2�������G�+�������,�
 - �����
��8��
 �2��>����)�=� 1���6������� �#   
2545-2551  

                   �
�6� : ��� 

!%1�� �2 2545 �2 2546 �2 2547 �2 2548 �2 2549 �2 2550 �2 2551 


.�. 18.32 31.99 39.27 36.40 65.28 64.59 77.05 

�.+. 22.09 35.61 43.20 43.08 71.21 72.45 82.14 


�.�. 24.35 40.16 45.66 47.69 76.48 74.23 77.98 

!
.�. 25.67 39.51 46.37 47.96 76.65 73.24 77.50 

+.�. 25.93 37.63 47.77 48.02 82.36 73.05 86.81 


�.�. 29.13 38.87 49.32 52.79 90.50 64.65 97.16 

�.�. 27.98 35.09 45.00 57.38 77.42 58.22 98.23 

�.�. 26.45 36.64 42.47 57.31 67.35 62.62 84.47 

�.�. 26.45 38.24 43.15 59.48 50.10 65.18 84.98 

�.�. 30.32 42.76 44.00 62.32 57.93 67.43 52.90 

+.�. 29.12 41.19 42.24 57.43 48.47 72.05 52.24 

8.�. 29.93 37.41 35.88 60.33 50.85 68.39 32.56 

!9.��� 26.31 37.93 43.69 52.52 67.88 68.01 75.34 

���
	 : �2�
����
����C
���4����?����2��6
���, 2552 
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2.2  /����%/.��;<=�!����������*���� 
 2.2.1 ����������	
��
��� 

������� (Attitude) ��
������������������������� ��
���������� ������� ��!��
"#��$�%��%�&� ����&��' ��&� "#��$  ���!�� �����(�)�  *�����+�,$(����' �����-��&��%�%�
, .�����%��#&�*�� *��/��!�����0��%��%�&� ���0. ���1���� �%2��01�����1���!���������3��
������ .���%- 
  ������� �������1���!�������#��� 4"�"���"�+5��� *��01�����1���3��
�&����������
��)�2 � �(1�&���)��&� ����( 6���,�$�&������17� ��"�)��&� ��� 6���,�$�&�,""��&��
1���$���+( ����������"�!�����,�$�&� $���+(!�������17�6���1���*��������� �� &������%��17�
.���3�&�17�.����&�������0.������1����1���"#��$0."#��$1���� 
  ���>���H= �C6��- (2526) )�
46�(�(����� b���
4��c 6����	
46�(4����H
7���(+
���(-?��	
��6
������ ��	
��6
��
�(�+�1�(+�N��������G������������8�
���-?>��
�� 

 4��7? �����P����
�? �
�� �� 
���� ��1�2���� (2516) ��
����66�� ����+�4
(+ 
���
4���������)������
���
�!
1��
���������
6���������
 (Cognitive) 46�(��
������)4����)1 
(Affective) ����K�����( (Behavior) 7���1�������������61�(+���J����+�)�
�C44�(+���
4����)

������)��������
��� 
��1��
+! ���
4�����������C44�
�!
�����!
����������3-����
�����6��
�(�+��2�)�
�C44�
�!
�������(�����K�����(�+������)1��,�5�����)4�������)��
5��
����
�!
��	
���
4������6� (Positive Attitude) ���8
���������(������)15��5����	
���
4�����
�� (Negative Attitude) ��	
���5+!��������������������������C44��+�����
�����������
� 
  �6���,�
 ��
JC(
�6�
 (2518) )�
46�(�(��������
4���6
6�� b���
4��c �(��8��
46�(��
�()
�������2�����C44��������)� �C44�)� 46�(��
�(�������6����C44���H
��
1��
�K�����(�+��C44������������
�!
6�� 5����,��(�5����H
�
6���,��(���H
�
6� 

2.2.2 .��<,������*���� 
  ���3-��2�4�=������
4��(+��4?������ 4,� ����������3-�������
4�����

���J����+��2�)�
���+��
�������
4������C44� 7���1�(�)
��������������-?������
��������-? ���
�( ��
6���)�
�����K�����(����C44�
�!
 M 

  1)  ����������
4�� ��
��C��
646�(4����+��6�������������
4��6����!
�������
���C 2 ������ 4,� 

1.1) ��������-?�+��C44�(+����C44���,��8�
���-? ���
4��1������)

��6�C44�1�������
����H
��
4C

�4���
����2� 7���8,�6����	
��������-?�����������
��
��

RI���
��H
1���,������ M �5�
 �
���,���(�? 6���C  �����
? ��	
�

 7����(���
����
��H
�
6��
���
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8,�6����	
��������-? ���
�( ����
,���1�����
4����	
��,����+�����1������������ ���
�!
 
�C44�1��(���1(+���
4����������+����(���
(+��������-?��
��� 

1.2) 4��
��(�����������
4��
��( ����+��C44�)��C44��
���1�(+���
4��
�+��+��,��(��+�������)������
��� ��,���1(+46�(��
���6������
�!
8����,�����
�!
��� ���(��!
�������
6�B
J��(4��
��( ��,�(���;�
�����C�(�+��C44�
�!
)5
5+6������ 

 2) ���3-�������
4�� �
��1�� D���� �C6��-5O (2520) ����68�����3-�
������
4��6�� (+���3-��+��2�4�= 4 ������4,� 

2.1) ���
4�� ��	
�>�6����
�+��K�����( �
���1�������!
������C���-?
��,������
�������)� ��,�1���+��6����	
�>�6���
�(�+�1�(+�K�����(1��� 

2.2) ���
4�� 1�(+46�(4�����)
5�6������6��4,� (+46�((��
4�8�6�
���(46����+��
������
��� ���(���
�(��46�(6��1��(�(+������+��
���� 

2.3) ���
4�� ��	
��6����+�1�
2������46�(���4�
������K�����( ���
46�(��
���
��4���(�6��1���	
��)
���������������� ��6�1���,�46�(��
��� ����1
����+�
�
����5�=��,���+���+����������)������
��� 

2.4) ���
4�� (+4C-�(�������1��)1)
��
�+�1��2�)�
�C44�����(�
����,��
����)������
���7��� �(��8�� ����2��
�����������K�����(�+���	
1����
6� 

3) ���J������������+��
�������
4��  
      �C��� ����= � (2519) ����66�����
4������C44�
�!
 (+���������C�
���+��
������
�
6�������3����( ������
 ��������6��
�(46�(�1��=����
�
������3����
�,��������4(
�4((+��������
4�����4
��(��8���+��
��������
��	
��
(�� ��!�
+!�����
�C44�(+ ������
������������� M �����6��
�����6�� 1���2�)�
�C44���(��8���+��
����
�K�����(���46�(4����H
��
 �(,�����
4������1�������+�
��
�H���(1����+��
������
  ��
���+��
��1���������
������+��������
��� �5�
 �+-�(��+ 8��-�(�8�� 5��-�(�5�� ��	
�

 ������
���+��
����1��(�������!
1��������4���(�6��1�)
������)��H��( ���G�������������+��C44�
�!

�2������
���6���C44��,�
�����(���+��
�������
4�������� ������4���+�6����
�+�1�)�
(+��)
���
���+��
�������
4������C44� ����1��2�)�
���
4�����(�+�(+������
6����(46�(��
(�

����C
���
������!
 �-���+�6��
�H��
���������
�
������+��
����
�!
 M ��!�
+! ����!�)1��,��(���!�)1�H��(1�
��H
6�����
4������C44�1�������!
��
1�������+�
��
�
6��
���������J�����������6��
�(�+�(+
����C44�
�!
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2.2.3 ���������������*���� (Attitude Component) 
  �C=J��( ��1��+������C�J�q (2531) ��
����68����4?������������
4���6
���
+! 

 1) 46�(��
 (Cognitive Component) �C44�)�1�(+���
4���������)�
�!
1��
��(+
46�(��
 46�(��
�)1)
����
�!
���
 ��,��)5
��	
�������+���2�����)�
���C��)
����+�1���C���	

46�(�5,������� 

 2) 46�(��
��� (Feeling Component) ��4?�������+���+��6���46�(��
�����,�
���(-?����C44��+�(+��������
�������)�����1����
�����
�)1����
�!
��
6 ����64,� �(,���C44�)���
 ���
��
�)1��,���)��H��C���	
46�(��H
)
����������(�
��6�� ����
�!
��	
�+���)1��,��(� �2�4�=
��,��(� �+��,���6 7�����������������(-?��,�46�(��
����������
�!
 

 3) 46�( 

(��+���+�1��N����� (Action Tendency Component) ��	

��4?�������C��
���+��6(��6(�1��46�(��
 ���46�(��
����+�(+�������)������
��� 1
�2�)�
����46�(
 

(��+���+�1��N����� ��,�����
���������
�!
)
�������+��
���
C
4�
����( ��,������
� ��(
46�(��
����+���	
�,!
;�

�!
 

2.2.4 �	���%��*���� 
  �
,���1�����
4��(+46�(�2�4�= ���(+46�(��(��
J?����K�����(����C44������(�� 

���6�����
4����	
���6��>�6�46�( 

(��+��)
�����������(�)5���	
�������2������	

46�(��
��� 7���(+���3-���	

�(J��( �C44���1�(�)�
�
���H11����
6�46�(1��� �������	
��,���
��6
��6������������������,���)�
�!
�(�6��1���	
�
6�6�1� ��,������+�
�H��(�C44�1�
��������8��46�(��(���(����>�����-?������4(4,� ��(4��
��( ��(�����(��� ����(�
��(�����������H
5����,��(�5�����4
��6
)�=�)
���4( ���
�!
���6�����
4�� 1��1��
��
42�
��8�� ��������
�46�42�
������4�,���(,�)
���6�����
4�� �6
���
+! 

 1) �������6�����
4��   
   ���6�����
4��(+���������,!���

�+�1��
����1��-� 3 ������ 4,� 
1.1) �
,!��� ���6�����
4���
��(+������
�������C

)�
�����N�����������+

���(� ������
� �����6����
����
,!����+��
�����6�� �5�
 �
�����6�����
4�������������
)1
��+��6���5+6��4���4��6����C44� �
,!����+���	
������
�)
�+�
+!4,� �8�
���-?��������
)1��+��6���
5+6��4���4��6 7�����
��� �����,��4��4��� ���C����(�� �������(+�C��4
��� ���4
����� 
�
�����4���4��6���46�(��(��
J?)
4���4��6 ��	
�

 

1.2) ������ ���6�����
4�� �����6���2��
�)�
(+��������	
��

����+�
����
,�����
��	
���3-�7
��-�6� ��,���	
�6������ ����64,�����(1����H
�
6���������������
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46�(��H
����,��� M 1
8��46�(��
����G� M ��������������	
�(���H
�
6�1
�(���H
�
6���������� 
���3-���������H
�
6�����(���H
�
6�������	
��

�����+�6��
�������
,�����
 

1.3) 46�(��
( ����������+��,�46�(��
����+�����������������
�
�!
 ��	

���(�-(��

�����������
 8
�(+46�(��
(����(�6��1���	
)
������)��H��( 1�(+46�(��
�����,�
����������+�C
���(���6���+�(+46�(��
(��	
���� 

 2) �
�46�42�
��)
���6�����
4�� 
   ���6�����
4��(+46�(12����)
��6���(�
������������� )
�����
��

�4�,���(,�6�� 1��
��42�
��8�������+��2�4�= ��
��� 
2.1) ���
4����	
��6���)
���3-��((�� 7���)
������3��
�������

��4
�4���6�J+����+��C�����7��7
�
�+��(���(��8��������
 ������ ���
�!
 ������3��
��)5
�6��)

������3�
�
 M ����
����(����6��)
�����
�����6����	
����3�
6� 

2.2) ���
4��1�6����
��+�������6
����
�!
 G�
�!
)
���6�����
4��)

��,���)���,����
�������C44��+��������)�
��H

�!
 1��
����,��)�
��	
��6��
����������+�
���������!�������!��6� �+��C44��������)�
��H
 
��
4,� �
�46�(6�����
4���
��4���4�C(
)
�����H
�+��
�����6����!��(� 

2.3) ���
4����	
��,�����+��6������(-? ���46�(��
��� G�
�!
)
���6��
���
4��1��
���(�8�(�
���H11��� ����
�46�(�+�8�(�
���(�(+42�8�(�+�(+42����8�������������
5�� 

2.4) ���
4����	
��,����+�(+46�(�(���(��
�
�
���(+�������6
���6��
(�� ���6�����
4��)
�������,���1��
��)�
46�(�(�����������)
��,����+�1�6��)�
5���1

(�G�
�!
1��2�)�
6�����
4����� ���(���!�)1 ��,��(��H6�����
4��������,�����
�(��
��!� M �+�
�
�����6����+����,�����+�6  

2.5) ���
4����	
��,����+����+��
������
 ������+��
����������
4��)

�������,���1����������
 G�
�!
���6��1��
��42�
��8��������+��
�������46�(4��������
���
4��
�!
 M �
6� 

3) �4�,���(,�6�����
4�� 
 �4�,���(,�6�����
4�� �����6����+��6�� (����6�����
4�� (+���� 4 5
�� ��
���  
3.1) (����6���������J��?� �
 �(��8�� �J��?� �
��B
��4�,���(,�

6�����
4�����
+!�(,�� 4.�.1929  ��6
�+����4�,���(,�6�����
+!4,��(��
��(+(����6����6������
����6
)�
��
�����H
  1�(+����
�46�(����46�(��
�����!�����6�  ���� ����� 4����(12�
6

(�����+��2��
��6
��
��
����
�������
�!
  �5�
 ��11��2��
� 5 (����  12�
6
�
�

���+��C�
46���
 5 �
�  8
��2��
�(����6���6
 11 (����  12��6
�
�46�(�+�����46�(��
�������6����
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�������

���
��)�
)5
��
 11  �
�  6�J+����2��
�
�����
��(+��!
��
���� M ���
+!1���
�4�,���(,��+�
��+��6�� Equal Appearing Interval  Scale  

3.2) (����6�����������4��  ��
����!
�(,�� 4.�.1932  �����	
6�J+���
��
���+�����6��6�J+����J��?� �
  (+46�(�5,��(��
��������B
���,��6���
�
46�(��
��
���������  
�����
���4�,���(,�6�����
4��  ���
+!��	
6�J+����(�

!2��
��46�(��
�������
�46�()
��
����  
4,�����1������4�,���(,������6����
6  7����������������J��?� �
�+��2��
�4��
!2��
�����
�
�46�(�6
���
���
2������  �����
���
�46�(�+�����46�(��
��������Z����
4��1��
��)�

4���4�C(�����(��
J?7�����
�����
  �
�46�(��11���	
����6��(���,� ������(�  ��,�
��(��
��
  ���
2�4��

�
��+���H
�
6���,��
��+��(���H
�
6�(���H��  ���R1���	
������ 
Monotonous 4,����3-��+����
6���
 

3.3) (����6������������?�(
 �
64���������?�(
  ��	
�
64�����
1�����(�����+�(+46�(��
(�

���������
��(�2����  ��,��6����4?��������,�(��� ��+�6 
(Unidimensional) )5
��
��!� 4����
�����6��46�(��(��8����
�����6���
�
46�(��
��� ���
��1��-�1�����6���
�
46�(��(��8��,�6���
�
����I==�1�(����
��H
5��6�� (�������
+!
��	
���3-�46�(��
(�

���( (Cumulative Scale)  

3.4) (����6�������������� ��������	
��6�

�4-�)
�����B
�
�4�,���(,�6�����
4������
����(,���# 4.�.1957  )�
5,���4�,���6�����
+!6��  (����6�����
��12��
� 
(Semantic Differential Scale ��,�  SDS)  �����
��(����6�����
�����
��12��
�  ������K3O+
�������
6�1����+��6���46�(�(�����42�  )
��� �4�+�����46�(��
������ �4
�!
  ����(,�

��	
��� �4��6  ���46�(1�����
6��11���
�
6�42��+�(+46�(�(����+��42���+�6 �5�
 4����	

��5+��+�
��������  42��2�4�=�+�����46�(��
���1����� �4
+!4,�  42�6�� b������c  ��	
�

  42����
>�3����� M 
�!
(+���3-��2�4�=���� 2 ����� 4,�  ���42�(+46�(�(����(��
J?
����
,�1��
46�(�(�����(  
�!
�H4,�46�(�(����
�����������+��6�� Canotation �5�
42�6�� b���c  
��1��
1���	
���3-�����+�����
6  ���(+46�(�(����(��
J?���42�6�� b�
�
c ��,� b��
���=c  �H��
  42�
6�� b��6c (+46�(�(�����(6���+��6 ���46�(�(���+���(��
J?
����
,���1�����(��1�(��8�� 
����C�J�q  �����  �6��� ���
+!��	
�

 

 
2.3 �	���������!������(�� 

$�
+.  +K.*��� (2543) ��
���3��I11���+���������46�(�������)
������������
������

!2������ )
1���6������� (+6��8C�����4? (1) ��,�����3��>��������4( ���3;��1���5�6�6

��������
����H� (2) ��,�����3�8���K�����()
������������
������
!2������ �6(��!��I=��
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�+���+��6�
������
���
��
�)
�����
�I=�� (3) ��,�����3����+����+���I11���+���������46�(
������� )
������������
������
!2������)
1���6������� ������3�4��!�
+!��
)5
6�J+���
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��.��<,�  �1�$��  (2549) ��
���3���,����I11���+�(+���J��������������
)1���������
������������3����5�6�6
���)
�2��>������ 1���6�������  ��(+6��8C�����4? ��,�� 
(1)���3����3-�������4(������3;��1�����3����5�6�6
�������)
�2��>������ 1���6��
����� (2) ���3����3-������������������������������)
����������M �����3����
5�6�6
�������  )
�,!
�+����3�  (3) 6��4����?46�(��(��
J?���6����I11��������4( ���3;��1  
���������������������������
)1���������������������3����5�6�6
������� )

�,!
�+����3�  (4) ���3��I=��  �C����4)
������������������������3����5�6�6
���)

�2��>������ 1���6�������  )
�,!
�+����3�  �2������H��6��6(�
�(����!�)
��6
����
�(���C���
>�(�����
�(���;(>�(�  ��)5
������8�(�5�� 4����
��������6��4����?�5�����-
� ��)5

�8������������ �5�
 ����1��1�46�(8+�  4���G�+�� �
���� �6(��!����6��4����?�
�(���5�����(�-  

��������3���6�� ��3�����+�(+�8�
>����	
�1
�����6
�����6
)�=���	
���5��  (+
���C�G�+�� 43.30  �#  �8�
>���(��  ������3������5�!
(�J�(���3�  ��������5+�����2��6

���������	
��5+����������5+�����(  ��3�����+����
!2������(+�����
�6(�G�+�� 22,134  ���
�����,�
  

���6����3�����+����������
���7���(+�����
�6(�G�+��   32,122  ��������,�
   

��3����8,�4����6
����G�+�� 17 ��� ��	
�6
����
����H� (+���C�G�+�� 15 �# ��6
)�=�
(+���������J�q��	
 G
��+���
 ��������1����������7,!����(�- 5 �� ��(�� ��3����1���������
�6
������  ��(+��!����1
����+������+���� ���������+��+�)5
��
(��4,� ���������+����
���6�
�6

6�
�����(6�
�6

6�
 ��3�����+����
!2������1�(+���4
�4
����(����7,!�8���6
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��-+�+���3�����+����������
���  �1
�����6
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����+��
��
2������������
)�
������4
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����)
�����
��8��
 ��3�����+����
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���� 90 �(�4��1����+��
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�����������
��� ��)�
���C��6�� (+���4
�(����8���6
 �(�(+46�(�C�����)
���������� ��
���
���
��H6 �(���
,��� ���H1��
��H6 �2�)�
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(����!
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���������
(��
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��3�����+����������
����(�4��1����+��
�����
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���6����
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!2��
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J?���6����I11���
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������5���
!2��
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	#�$��  �������K. (2550) ��
���3���,�������������2��
�
JC���17,!����
!2�����)

�2����C���2����  �2��>����)�=�  1���6�������  ��(+6��8C�����4? ��,�� 1) ���3��>�����6�����
���3;��1������4(�����3����  ���4
��������  ������4
����)�=� 2) ���3����1������
�
���
��������������
!2�����������3����)
�2����C���2����  �2��>����)�=�  1���6�������  3) 
���3�����2��
�
JC���1������4
����7,!�
!2�������������������)�=� 4) 6��4����?6�8+�������
�����6
���,��(����������JC���17,!����
!2���� ��� 5) ���3��I=������C����4������
�2��
�
JC���17,!����
!2������ )
�2����C���2����  �2��>����)�=�  1���6������� �����H�
�6��6(�
�(��)
��6
�
�(���;(>�(�)5
������8�(�5�� 4����
��������6��4����?�5��
���-
� ��)5
�8������������ �5�
 ����1��1�46�(8+�  4���G�+�� �
����   

��������3���6�� ��3������
����
!2��������6
)�=���	
���5�� (+���C�G�+�� 41.1 �#  
�8�
>���(��  ������3������(�J�(���3���
������,� �65. (+�����
���4��6��,�
�G�+��  
334,500  �������#  ����	
�����
1��������
!2�������G�+�� 227,750 �������# �2��������4
�
��������+����7,!�
!2��������6
)�=���	
���5��  (+���C�G�+��������� 38.1 �# ���
��8,����
��C�J
(+�8�
>���(����
6  (+�����
���4��6��,�
�G�+�� 274,000 �������# (+�����
1��������
!2����
���G�+�� 206,000 �������#   

��3������
����
!2��������6
)�=�(+�,!
�+�)
���������������G�+�� 19.8 ��� (+�,!
�+�
��(��8��+������
 16 L 20 ��� ��3�����
���� 82.5 �(���
)���C�� ����
���� 90 )5
�����
)

4���4��6)
����2��6
������� ��4��+���3����12��
���
!2�������G�+��)
K��U
 �# 2549 (+
��4� 77.5 �������� ����( ��4��+���3��12��
���
!2�������G�+��)
K���
�
�# 2549 (+��4� 65.5  
�������� ����(   

����2��
���4����7,!�
!2���������4
��������1��2��
���4���(��4��

� ����
��4�
���7,!�
!2��������!��#�G�+�� 73.5 �������� ����( �����4����
!2��������!��#�G�+�� 74.5 ������
�� ����( �

�C
�������������4
�������� ������� 0.089 �������� ����( 
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!2������)
�,!
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������3���,������
4�������3����5�6�6
�������K�����(������7,!�
!2���������
���4
�4
����������(���
�
)
�2������� �2��>����)�=� 1���6�������  ��
6�1����
�2����
�6��6(��!��
�(���C���>�(�����
�(���;(>�(� ��,��
2�(�6��4����?�
�(�����
+! 

 

3.1 �(�
K./.��	�!�M������
�(�
K. 
1) �
�(���C���>�(� (Secondary Data) 
 �
�(���C���>�(� ��	
������3�1���
�(���+�(+��
���3���H��6��6(�6
��
6  )
��,������

�8�
���-?�����������������
!2������ �
64������K3N+�+���+��6�
��������
4��  ��,������(
46�(��
)�
�����
6�1�����
2���)5
��	
�����
64��)
���6�1��4��!�
+!����� 7�����
�6��6((�1��
����������>������
���6�1�� >�4
��
J? ���
��
J? ���������6�5��������M  ����
4

46
�
1��������
�(������M ��
��� ���(C�4C-�=�����  ���8�6+�C
��  �
���(C�4-����3;�����?  
(��6������������
4��
��?  ����1
����,�4

�
�(��1���4�,�������
����?�
H�����M  7���
�
�(���C���>�(��+���H��6��6(
+!1���
)5
��	
�
6���)
������3������ 

2) �
�(���;(>�(� (Primary Data) 
 �
�(���;(>�(� ��	
�
�(���+���
6�1����H��6��6(1��>�4�
�( (Field Survey)  ��(+   

����C�(��6��������6�J+�����H��6��6(�
�(�� �2��
���!
��
���
+! 
2.1) ���5��������6����� 

 2 . 1 . 1 )  ���5���  4, �  � �3����5�6�6
�� � )
�2 �������               
�2��>����)�=�  1���6�������  �+��I11C��
12��
���
!2��������,��4�12��
���
!2������)�
     
���4
�4
����)
������(���
�
 

 2.1.2) ��6����� ��
6�1��)5
6�J+����C�(��6��������������= 1�����5��� ��
���1��12�
6
��6�����)
 8 �(���
�
 M �� 15 ��� �6( 120 ���  

2.2) �����H��6��6(�
�(�� (+6�J+������
+! 
 2.2.1) ��(>�3-?����C44� (Personal Interview)  ���


��(>�3-?

��3�����+�(+�����)
��������
)112��
���
!2������ )5
������8�(�5�� 4����
�� 
(Structured Questionnaire) ��	
�4�,���(,�)
�����H��6��6(�
�(�� 7���(+�
642�8�(������	
 4 
��6
���
+! (>�4�
6�) 
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�+�  1  ���3-�������4(������3;��1�����3����5�6�6
��� 
��6
�+�  2  ���������1������
�
�������������12��
���
!2�����������3���� 
��6
�+�  3  ���
4�������3��������K�����(������7,!�
!2������������4
�4


����������(���
�
 
   ��6
�+�  5  �I=������C����4)
���12��
���
!2�����������3���� 

 

 �2��������
4�������3����5�6�6
�������K�����(������7,!�
!2���������
���4
�4
����������(���
�
 ��
6�1����
�2��
������4��

46�(4����H
����
�46�(�5���6��+�
��
6�1���2��
������	
 5 ����� ���
+! (�(���-? �1��=1���������, 2550)   

 

�����4��

         ��H
�
6�)
����� 
                  5    (���+��C� 
                  4    (�� 
                  3    ��
���� 
                 2    

�� 
                  1    

���+��C� 
 

2.2.2 ) ��������������8�(  (Pretest)  ��,��)�
������8�((+   
46�(�(���-?  ��
6�1��
2�������8�(���������(>�3-?�C44��+�(+���3-�4�
�������C�(��6�����  
4,� ��3����5�6�6
����+��I11C��
12��
�����,��4�12��
���
!2������ )
�2���4������ ��� 
�2��>����)�=� 1���6������� 12�
6
  7  ���  ��,����61���46�(����������46�(��(��8

2���)5
��
1���   ����1��-�8��46�(��
�)1���46�(5���1
)
������42�8�(  �6(8���6���+�)5

)
������42�8�(��(���(�+�
2���)5
�6��6(�
�(��1�����,��(�   ��
2��
�����������
������8�((�������C������
��)�
�(���-?������!
  ��
61��
2�������8�(
�!
���2��
�
���
���8�(1���  

  
3.2 ��8���!��	�L��(�
K. 

���6��4����?�
�(��  ��	
���
2��
�(��1�������(>�3-?����C44�  (�6��4����?�5��
���-
� (Descriptive Analysis) ������6��4����?�5�����(�- (Quantitative Analysis)  
�������+�����
+! 

1) ���6��4����? ��)5
�8������������ ��
��� ����1��1�46�(8+�  4���
���� 
(Percentage) �����4���G�+�� (Mean) �
6� �����( SPSS     
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)
���6��4����?���
4�������3����5�6�6
������������������
!2������
)�
������4
�4
����������(���
�
 ��
6�1����
�2��
���-D?������46�(�(��4���G�+���6
 5 �����
���
+! 

  4��

�G�+��         ��������
4�� 
       4.50-5.00   �+(�� 
       3.50-4.49     �+ 
       2.50-3.49    �+��
���� 
       1.50-2.49     �(���
�+ 
       1.00-1.49     �(��+ 

 

2) ���6��4����?�5�����(�- 
 ���6��4����?�5�����(�- 4,� ��������4���8����4��46�?  ��,��6��4����?

46�(��(��
J?���6����I11���
�
���4( ���3;��1  ����������������������12��
���
!2������  
7�����	
 ��6�������� ��������
4�������3����5�6�6
�������K�����(������7,!�
!2������
������4
�4
����������(���
�
)
>���6(��	
��6�����( 

��!
��
��������  (+���
+! 
2.1) ��!��((��;�
 
Ho1   : �I11��������4(������3;��1�(�(+46�(��(��
J?�����������
4�����

��3����5�6�6
�������K�����(���������7,!�
!2������������4
�4
����������(���
�
  
HA1: �I11��������4(������3;��1(+46�(��(��
J?�����������
4�����

��3����5�6�6
�������K�����(������7,!�
!2������������4
�4
����������(���
�
  
Ho2   : ������������� ������12��
����(�(+46�(��(��
J?�����������
4��

�����3����5�6�6
�������K�����(������7,!�
!2������������4
�4
����������(���
�
  
HA2 : ������������� ������12��
���(+46�(��(��
J?�����������
4�����

��3����5�6�6
�������K�����(������7,!�
!2������������4
�4
����������(���
�
 
2.2)  �2��
������
���2�4�=����8����+� α =0.05 
2.3)   42�
6-4�� P-value 1�� �����( SPSS     

      2.4) ��C����������� 4,�8
� P-value 

���6��4�� α  1��N���J Ho ��,�
��(��� HA �(��46�(6�� �I11���
�
���4( ���3;��1 ����������������������12��
��� (+
46�(��(��
J?��������
4�������3����5�6�6
�������K�����(������7,!�
!2���������
���4
�4
����������(���
�
)
>���6( �����(+
���2�4�=����8����+� α = 0.05 )
��������
�
�( 
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8
�4�� P-value (���6��4�� α 1���(��� Ho ��,��N���J HA �(��46�(6�� �I11���
�
���4( 
���3;��1 ���������������� ������12��
����(�(+46�(��(��
J?�����������
4�����
��3����5�6�6
�������K�����(������7,!�
!2������������4
�4
����������(���
�
)

>���6( �����(+
���2�4�=����8����+� α = 0.05   

 
���/�������       ���/���	
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

 
 

N	+��� 3.1 �����
64��������3�46�(��(��
J?����I11���
�
���4( ���3;��1���
������������� ������12��
���
!2�����������������
4�������3����5�6�6
������
�K�����(������7,!�
!2������������4
�4
����)
������(���
�
 
 

 

 

 

  �O����%(	�����
/.�!*�<P��� 
      1. ���C 
      2. ��� 
      3. �����������3� 
      4. �����
�6(���4��6��,�
 
      5. �����	
�(�5����C�(��4?��
)
5C(5
 
 

  �K�/���	�-.�� /.��	���	L�&	�

�0�	�	��%���!�<����      
     1. ���(�-
!2������ (��./6�
) 
     2. ��������(�����61���
��4����
!2���� 
     3. ��4�
!2�������+���
����G�+�� 
     4. ����?�7H
�?
!2�������G�+�� 
     5. �����������+� 

��%����*�������!�<����

$	�����	��&�+;�����
�	����

Q10��0�	�	��%���+&��(	���.	�

��%��L
K&�(	�R�N	+��
 
0 = �+(�� L �+ 
1 = �+��
���� - �(���
�+ 
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����� 4 

-.�	������/.��N���	�-. 
 

 ��
6�1����
6��4����?�
�(�������
������6��4����?�
�(�� ��,������
4�������3����
5�6�6
�������K�����(������7,!�
!2������������4
�4
����������(���
�
)
�2�������  
�2��>����)�=� 1���6�������  ���������
2���
������	
 5 ��
 ���
+! 

��
�+�  1  ���3-�������4(������3;��1�����3����5�6�6
��� 
��
�+�  2  ���������1������
�
�������������12��
���
!2�����������3���� 
��
�+�  3  ���
4�������3��������K�����(������7,!�
!2������������4
�4


����������(���
�
 
��
�+�  4  �����6��4����?46�(��(��
J?���6����I11���
�
���4(������3;��1

���������12��
���
!2�����������������
4�������3����5�6�6
�������K�����(������7,!�

!2������������4
�4
���� 

��
�+�  5  �I=������C����4)
���12��
���
!2�����������3���� 
 

4.1 .��<,��	�����
/.�!*�<P������!�<����$	�����	� 
)
��6�
�
+!��
6�1����
�������
2���
���	
 2 ��6
)�=� ��
��� ���3-�������4(���

��3���� ������3-�������3;��1�����3���� ����������+�������
+! 
4.1.1 .��<,��	�����
���!�<���� 

)
��6�
�
+!��	
���
2���
����3-�������4(�����3����5�6�6
��� ��
��� 
��� ���C ���
� �����������3� �8�
>���(�� 12�
6
�(�5��)
4��6��,�
 ���12�
6

�(�5��)
4��6��,�
�+�5�6��+��2��6
�������  �����	
�(�5����C�(��4?��)
5C(5
�����C�(��,�
��4?��)
5C(5
�+���3������	
�(�5�� (������+� 4.1) 

1)  ��� 
 ��3����5�6�6
�����	
����=�� �
���� 52.5 ������5�� �
���� 47.5      

1���������
6����3��������=��������5��(+�����)
��������
)112��
���
!2������)

�����6
�+�)��
�4+����
 

2) ���C 
 ��3����5�6�6
���(+���C 31-40 �# �
���� 30.8 �����(�(+���C (���6�� 50 �# 

�
���� 26.7 ���C 41 L 50 �# �
���� 25.8 ����(����
 30 �# �
���� 16.7  ����6����3�����+�(+
���C

���+��C�4,� 24 �# ������C(���+��C� 78 �# ������C�G�+�� 42 �# 7�����	
���C)
6���2���
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�	�	���� 4.1 ���3-�������4(�����3���� 

.��<,��	�����
���!�<���� 
��	��� 

(n=120) 
�(��.� 

1) !+* 
     �=�� 
     5�� 

 
63 
57 

 
52.5 
47.5 

2) �	�� (�2) 

     ≤ 30 
     31 L 40 
     41 L 50 
      > 50 

 
20 
37 
31 
32 

 
16.7 
30.8 
25.8 
26.7 

�G�+�� 42 
3) *	��	 
     �C�J 

 
120 

 
100 

4) ��%���	�*T�<	 
     �(���
���������3�)
���� 
     ���8(���3� 
     (�J�(���3� 
     �6�./�
C���==� 
     ���==���+ 

 
22 
26 
25 
26 
21 

 
18.3 
21.7 
20.8 
21.7 
17.5 

5) ��	�N	+�
�� 
      �� 
     �(�� 
     �����
��/�(
�� 

 
25 
85 
10 

 
20.8 
70.8 
8.4 

6) ��	����
	$��R�����!�1�� (��) 
     1 L 3 
     4 L 6 
     >6 

 
42 
74 
4 

 
35.0 
61.7 
3.3 

�G�+�� 3.9 
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�	�	���� 4.1 (���) 

.��<,��	�����
���!�<���� 
��	��� 

(n=120) 
�(��.� 

7) ��	����
	$��R�����!�1�����$&����	���

�	� (��) 
     1 L 2 
     3 L 4 
     >4 

 
 
84 
35 
1 

 
 

70.0 
29.2 
0.8 

�G�+�� 2 
8) �	�!�U��
	$���.�&
������R�$�
$� 
     ��	
 
     �(���	
 

 
98 
22 

 
81.7 
18.3 

9) �.�&
L�1�������R�$�
$����!�U��
	$��* 
     ��C�(��(�����? 
     ����C
�(���
�
 
     ����-?
!2���� 
     ��C�(�6��6(
!2���� 

(n=98) 
77 
68 
15 
2 

 
78.6 
69.4 
15.3 
2.0 

L
	�!L�� * -K(���/������	
�	
	�����'%(
	���&	 1 �(� 
 

3) ���
� 
 ��3����5�6�6
���
��8,����
��C�J��!��(�7������4�
������>�����4(

������5���)
�,!
�+����3��+����5�����6
)�=�
��8,����
��C�J 
4) �����������3� 
 ��3����5�6�6
�����6
)�=�1�������3���������8(���3�����6�./

�
C���==� �
���� 21.7 ������
 �����(�J�(���3� �
���� 20.8 ��������==���+ �
���� 17.5 
����(���
���������3�)
���� �
���� 18.3 1���H
��
6����3����5�6�6
���(+�����������3�
�+����������
 7�����1�����)�
��3����(+���
4��)
�
�
����M �+����������
 

5) �8�
>���(�� 
 ��3����5�6�6
���(+�8�
>���(��(���+��C� �
���� 70.8 �����(���
��� 

 �� �
���� 20.8 ��������
��/�(
�� �
���� 8.4 
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6) 12�
6
�(�5��)
4��6��,�
����(�5���+�5�6��2��6
��� 
 ��3����5�6�6
���(+12�
6
�(�5��)
4��6��,�
 4 L 6 4
 (���+��C� �
���� 61.7 

�����(�(+12�
6
�(�5��)
4��6��,�
 1 L 3 4
 �
���� 35 ���(���6�� 6 4
 �
���� 3.3  ��(+
12�
6
�(�5��)
4��6��,�
�G�+�� 4 4
 ��� ��	
�(�5���+�5�6��2��6
��� �G�+�� 2 4
  ����6

)�=� 1���	
��6�

�4���4��6���>������6�

�4���4��6 

7) �����	
�(�5�������C�(��4?���+���	
�(�5�� 
 ��3����5�6�6
����
���� 81.7 ��	
�(�5����C�(��4?��)
5C(5
 (+��+��  

�
���� 18.3 ����
�!
�+��(���	
�(�5����C�(��4?��)�M ���  ����C�(��4?���+���3������	
�(�5��
(���+��C���
���  ��C�(��(�����?  �
���� 78.6 �����(� ����C
�(���
�
 �
���� 69.4          
����-?
!2���� �
���� 12.5 �����C�(�6��6(
!2���� �
���� 12.5 ��(�2���� 

4.1.2 .��<,��	�!*�<P������!�<���� 
)
��6�
�
+!��	
���
2���
��
�(������
�
���3;��1�����3����5�6�6
��� 

��
��� ��5+����� ��5+���� �����
�6(���4��6��,�
 �����
1������2��6
��� >�6��
+!��

4��6��,�
 ���12�
6
�
+!��
���4��6��,�
 �������
�,(���
 ���1C������4?��������
�,(       
(������+� 4.2) 

1) ��5+�����  
 ��3������6
)�=��2��6
���������	
��5+����� �
���� 79.1 �����(�JC���1

��6
��6�
���� 9.2  �����5��� �
���� 6.6 �,�
M �
���� 11.9 ��
��� ��+!�����6? ������� ����6

���(
  

2) ��5+���� 
 ��3����5�6�6
����+�(+��5+�����
���� 35  ���2��6
���������	
��5+�

��� �
���� 59.5 �6
���(
 �
���� 26.2 ����,�
M �
���� 11.9 ��
��� 4
���� ��+!�����6?            
����8���1
��  

3) �����
�6(��������
1������2��6
���  
 ��3����5�6�6
���(+�����
�6(�(����
 10,000 ���(���+��C� �
���� 35.0 

�����(�4,� �����
 10,001 L 20000 ��� �
����  27.5 �����
 20,001 L 30,000 ��� �
���� 20.0 
��������
(���6�� 30,000 ��� �
���� 17.5 (+�����
4��6��,�
�G�+�� 22,520 ��������,�
 ���
��6
)�=�(+�����
1������2��6
����(����
 10,000 ��� �
���� 49.1 �����
1������2��6
��� 
10,001 -20,000 ���  �
���� 30.0 �����
1������2��6
��� 20,001 L 30,000 ��� �
���� 11.7 
�����
1������2��6
���(���6�� 30,000 ���  �
���� 9.2 �����3����(+�����
1������2��6

��������G�+�� 16,495 ��������,�
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�	�	���� 4.2 ���3-�������3;��1�����3���� 

.��<,��	�!*�<P������!�<���� 
��	��� 

(n=120) 
�(��.� 

1) �	$�+L.�� 
    �2��6
������� 
     JC���1��6
��6 
     �
���5��� 
    �,�
M 

 
95 
11 
8 
6 

 
79.1 
9.2 
6.7 
5.0 

2) �	$�+��� 
     �(�(+ 
     (+ 

 
78 
42 

 
65.0 
35.0 

3) �	�'%(��
�������!�1�� (�	�/!%1��) 
     ≤ 10,000 
     10,001 L 20,000 
     20,001 L 30,000 
     > 30,000 

 
42 
33 
24 
21 

 
35.0 
27.5 
20.0 
17.5 

�G�+�� 22,520 
4) �	�'%(�	��	���	����	�+	�	 (�	�/!%1��) 
      ≤ 10,000 
     10,001 L 20,000 
     20,001 L 30,000 
      > 30,000 

 
59 
36 
14 
11 

 
49.1 
30.0 
11.7 
9.2 

�G�+�� 16,495 

5) N	��L��0�������!�1�� 
     (+ 
    �(�(+ 

 
81 
39 

 
67.5 
32.5 
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�	�	���� 4.2 (���) 

.��<,��	�!*�<P������!�<���� 
��	��� 

(n=120) 
�(��.� 

6) ��	���L��0����������!�1�� (�	�) 

      ≤ 100,000 
     100,001 L 200,000 
     200,001 L 300,000 

     >300,000 

(n=81) 
33 
18 
16 
14 

 
40.7 
22.2 
19.7 
17.4 

�G�+�� 248,843 
7) /L.&��K(�1
!���* 
     J
�4����,�������3���������-?�����3�� 
     ����C
�(���
�
 
     J
�4����-�5�? 
     �������
�,(
������ 
     �,�
M 

(n=81) 
41 
38 
18 
13 
6 

 
50.6 
46.9 
22.2 
16.0 
7.4 

8) ��%�����������	��K(�1
* 
     ������C
)
�6
��� 
     ��� >4)
4��6��,�
 
     ������3��C�� 
     �,�
M 

(n=81) 
46 
42 
17 
12 

 
56.8 
51.9 
21.0 
14.8 

L
	�!L�� * -K(���/������	
�	
	�����'%(
	���&	 1 �(� 
 

4) >�6��
+!��
���12�
6
�
+!��
���4��6��,�
 
 ��3����5�6�6
���(+>�6��
+!��
 �
���� 67.5 ����(�(+�
+!��
 �
���� 32.5 

7���12�
6
�
+!��
�(����
 100,000 ���  �
���� 40.7   12�
6
 100,001 -200,000 ��� �
���� 22.2    
12�
6
 200,001 -300,000 ���   �
���� 19.7 ���(���6�� 300,000 ���4����	
 �
���� 17.4 
12�
6
�
+!��
���4��6��,�
�G�+�� 248,843 ��� 

5) �������
�,(���
���1C������4?��������
�,( 
 ��3����5�6�6
���(+�����)
�����
�,(���
 ��
��� J
�4����,�������3�����

����-?�����3�� �
���� 50.6 �����(�����C
�(���
�
 �
���� 46.9 J
�4����-�5�?           
�
���� 22.2 ��������
��

������ �
���� 16.0  ����,�
M �
���� 7.4 ��
��� ����-?�(���
�
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J
�4����+����
�4�
 �2�����1C������4?��������
�,(��,��)5
�2�����������C
)
�6
���            
�
���� 56.8 ��� >4)
4��6��,�
 51.9 ������3��C�� 21.0 ��� �,�
M �
���� 14.8 ��
��� 7,!��8 
7,!��
�
  

 

4.2 �K�/���	���%�	�%(	��	�-.��/.��	���	L�&	��0�	�	��%���!�<���� 
)
��6�
�
+!��
6�1����
�������
2���
���	
 2 ��6
)�=� ��
��� ���������1������
�
���

���� ������12��
���
!2�����������3���� ����������+�������
+! 
4.2.1 �K�/���	���%�	�%(	��	�-.�� 

)
��6�
�
+!��	
���
2���
����������1������
�
��������������)
�2������� 
�2��>����)�=� 1���6������� �������
6� �
���
,!��+�8,�4��� ���C�6
��� �����������+� 
�������6
�������1
����+� ���(�-����+���+���
 (������+� 4.3) 

1) �
���
,!��+�8,�4����2��6
��� �,!
�+���E���+� ������C����6
��� 
 ��3����5�6�6
��� (+�,!
�+�8,�4���)
5�6� 11 L 20��� �
���� 30 �����(� 

(���6�� 30 ��� �
���� 29.2 �(����
 10 ��� �
���� 22.5 12�
6
 21 L 30 ��� �
���� 18.3 (+�
,!��+�8,�
4����G�+�� 30.86 ��� ��	
�,!
�+���E���+�)
5�6� 11 L 20 ��� �
���� 37.5 �(����
 10 ��� �
���� 32.5 
(���6�� 30 ��� �
���� 20.8 ���)
5�6� 21 L 30 ��� �
���� 9.2 ��	
�,!
�+���E���+� �G�+�� 23 ��� 
 ��(+���C�6
��� �(����
 10 �# �
���� 25 ���C 11 L 20 �# �
���� 69.2 ���C 21 L 30 �# �
���� 5.8  
���C�6
����G�+�� 14.06 �# 

2) �����������+� 
 ��3����5�6�6
���(+���1
����+� �
���� 58.3 �����(� ��+���� �
���� 30  

��+���������6
���1
����+������6
 �
���� 11.7 ��3����(+���1
����+�(����!�
+!��1�
,���1��
�
,!��+�8,�4����2��6
�������(+(�� ���������)
�,!
�+�(+�����
�(��(���2�)�
��3������,��
�+�1�1
����+�(���6����+������� 

3) �������6
�������1
����+� 
 ��3����5�6�6
���(+�������6
�������1
����+� 60:40 ��!��(� ����64,� 

��3������
 60 ��6
 ��6
��
��+���
 40 ��6
 1����!��(� 100 ��6
 �
,���1����	
������+��C��J��(
���(+���)5
�������6
����
+!(�
�
 

4) ���(�-
!2�����+���+���
 
 ��3����5�6�6
���(+���(�-
!2�������+���+���
�(����
 60 �� ����(���6�
 

�
���� 34.5 �����(� ���(�-
!2������(���6�� 90 �� ����(���6�
 �
���� 8.2 ���(�-
!2������ 
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61 L 70 �� ����(���6�
 �
���� 5.5 ���(�-
!2������ 71 L 80 �� ����(�
���� 5.0 ������(�-
!2�
����� 81 L 90 �� ����(���6�
 �
���� 1.8 ���(�-
!2�������G�+���+���+���
 64.08 �� ����(���6�
 

 

�	�	���� 4.3  ���������1������
�
������������3���� 

�	��	� 
��	��� 

(n=120) 
�(��.� 

1) ��	%!�10�����1�������	����	�+	�	 ('�&) 
      ≤ 10 
     11 L 20 
     21 L 30 
     > 30 

 
27 
36 
22 
35 

 
22.5 
30.0 
18.3 
29.2 

�G�+�� 31 
2. +10����!�X%���% ('�&) 
    ≤ 10 
     11 L 20 
     21 L 30 
     > 30 

 
39 
45 
11 
25 

 
32.5 
37.5 
9.2 
20.8 

�G�+�� 23 

3) �	���������	� (�2) 
     ≤ 10 
     11 L 20 
     21 L 30 

 
30 
83 
7 

 
25.0 
69.2 
5.8 

�G�+�� 14.06 
4) �K�/���	����% 
    1
����+���!��(� 
     ��+������!��(� 
     ��+���������6
���1
����+������6
 

 
70 
36 
14 

 
58.3 
30.0 
11.7 

5) ����	�&���	�/�&�-.���#�$�� 
     60:40 

(n=84) 
84 

 
100 

   

   



 37

�	�	���� 4.3 (���)   

�	��	� 
��	��� 

(n=120) 
�(��.� 

6) ���
	,�0�	�	�������%'%( (��#.���
/���) 
      ≤ 60 
     61 L 70 
     71 L 80 
     81 -9 0 
       >90  

 
76 
12 
11 
4 
18 

 
34.5 
5.5 
5.0 
1.8 
8.2 

�G�+�� 64.08 
 

4.2.2 �	���	L�&	��0�	�	��%���!�<���� 
)
��6�
�
+!��	
���
2���
����������12��
���
!2�����������3���� 7���

�������
6� �����C�+���,�����
!2���� ����?�7H
�?�
,!������
��+���
��� �����12��
���
!2������
������C��)
���12��
���
!2������ ��4�
!2�������+���
��� ���������������
 �����4��+�
��3������
��� (������+� 4.4) 

1) �����C�+���,�����
!2������ 
 ��3����5�6�6
�����,��12��
���
!2������ �
,���1����(��8���+��
��	
���


����
��
�+ �
���� 95 )5
�����6��)
����2���
��


���� �
���� 32.5 ��+���
)
���(�-���
����(��!
 �
���� 16.7 ����,�
M �
���� 0.8��
��� �
��������
�(C
�6+�
 �,(���
���4
�4
������

���
 ����Z����
������� (� 

2) ����?�7H
�?�
,!������
��+���
��� 
 ��3����5�6�6
�����
�������?�7H
�?�
,!������
� 25 L 29 �
���� 55.8 �(����
 

25 ����?�7H
�? �
���� 29.2 ����?�7H
�?�
,!������
� 30 L 35 ��	
 �
���� 15 ����?�7H
�?�
,!����
��
��+���3������
������������
 ��1�
,���(�1�� ���C�������+����������
������6��������4
�
�+���3��
2������ 

3) ��������(�����61�����4�
!2���� 
 ��3����(+�����61�����4�
!2���� �
���� 81.7 ����(�(+�����61�����4�


!2���� �
���� 18.3  ����3������6
)�=���61�����4�
!2����1�����4
�4
���� �
���� 81.6 
�����(������(1������-?
!2���� �
���� 13.2 �2�
����
����C
���4����?����2��6
��� 
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�
���� 4.0 ��C�(�6��6(
!2���� �
���� 1.0 1�������(>�3-?��3���� ����6����3��������4�

!2����1�����4
�4
����1���Z����4��+����4
�4
������
����������6
  

4) �����12��
���������C��)
���12��
���
!2������ 
 ��3����5�6�6
�����,�����
!2����)�
������4
�4
�����
���� 98.3 ������

)�
�������-?
!2���� �
���� 1.7 ���C���+���3���� �
���� 98.3 ��,�����)�
������4
�4
���� 
��
��� ��
������
����
�+ 4����	
�
���� 93.1 �����(�4,� �����12��
�������)��
�6
��� �
���� 
51.3 �������
���
!2���� �
���� 5.1 (+46�(�C��J��()
����+4������?�7H
�?
!2���� �
���� 3.4 ���
(+�4�,���5�����+��������
(���;�
 �
���� 2.6 �
,���1��)
�# 2551 ��3����5�6�6
����+�12��
���

!2������42�
��8����4�
!2���������������
�(����������
(��
�� ���6�J+��������+����6��(�
�C����� ���

�C
���������
(���6�� ��(��8)5
�6����6
�+����,�������

+!����������5+��,�
M 
�+���
������ �5
?���4C
(4���6�� 
 

�	�	���� 4.4 ���������12��
���
!2�����������3���� 

�	��	� 
��	��� 

 (n=120) 

�(��.� 

1) �	!L�����!.1���	��0�	�	��%* 
     ��(��8��
������
����
�+ 
     )5
�����6��)
����2���
��


���� 
     ��+������
)
���(�-����+�����(��!
 
     �,�
M 

 
114 
39 
20 
3 

 
95.0 
32.5 
16.7 
2.4 

2) !����!QM���!�10��	�/L(����'%(��� (%) 

     < 25 
     25 L 29  
     30 L 35  

 
35 
67 
18 

 
29.2 
55.8 
15 

3) �	���%�	
/.���������	�	�0�	�	� 
     (+ 
     �(�(+ 

 
98 
22 

 
81.7 
18.3 
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�	�	���� 4.4 (���)   

�	��	� 
��	��� 

 (n=120) 

�(��.� 

4) /L.&��(�
K.�	�	�0�	�	��% 
     ���4
�4
���� 
     ����-?
!2���� 
     �2�
����
����C
���4����?����2��6
��� 
     ��C�(�6��6(
!2���� 

(n=98) 
80 
13 
4 
1 

 
81.6 
13.3 
4.1 
1.0 

7) �	�	�0�	�	��%���'%(��� (�	��&���#.���
) 
     ≤ 30 
     31 L 40 
     41 L 50 
     51 L 60 
     > 60 

 
1 
20 
49 
42 
8 

 
0.8 
16.7 
40.8 
35.0 
6.7 

�G�+�� 51.14 
8) �K�/���	����!����&	�0�	�	� 
     ������
����
�+�+���� 
     ����G��������
6
2�������������?��4��!� 

 
115 
5 

 
95.8 
4.2 

9) �	�	���!�<����'%(��� 
     ��������
������ 
     ��2��6���
������ 

 
76 
44 

 
63.3 
36.7 

10) �	�	���!L
	��
 (�	��&���#.���
) 
     ≤ 50 
     51 L 60 
     61 L 70 
     71 L 80 
     > 80 

(n=44) 
4 
15 
16 
5 
4 

 
3.3 
12.5 
13.3 
4.2 
3.3 

!9.��� 68.63 

L
	�!L�� * -K(���/������	
�	
	�����'%(
	���&	 1�(� 
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5) ��4�
!2�������+���
����G�+�� ���������������
 �����4��+���3������
��� 
 ��3����5�6�6
�����
�����4� 41 L 50 �������� ����( �
���� 40.8 ��4� 

51 L 60 �������� ����( �
���� 35 ��4� 31 L 40 �������� ����( �
���� 16.7 ��4�(���6�� 60 
�������� ����( �
���� 7.5 ��4�
!2�����G�+�� 51.14 �������� ����( ������������
���
��3����5�6�6
�����3������
������
����
�+ �
���� 95.8 (+��+���
���� 4.2 ����
�!
�+����
�G��������
6
2�������������?��4��!� �����4��+���3����4��6����(���( ��4� �(����
 50 ��� 
�
���� 3.3 ��4� 51 L 60 ��� �
���� 12.5 ��4� 61 L 70 ��� �
���� 13.3 ��4� 71 L 80 ��� 
�
���� 4.2 ���(���6�� 80 �
���� 3.3 ��4��G�+���+� 68.63  
 

4.3 ��*�������!�<�����&�+;�����
�	����Q10��0�	�	��%���+&��(	���.	���%��L
K&�(	� 
������3����
4�������3����5�6�6
�������K�����(������7,!�
!2������������4
�

4
���� ��
6�1����
���3�>���6(7���(+��������3����
+! (������+� 4.5) 
�����6��4����?���
4�������3����5�6�6
�������K�����(������7,!�
!2������

������4
�4
����������(���
�
 ��6��  ��3����(+���
4���+ ��(+�����4��

�G�+�� 3.98 4,�
��������
4���+ ��������1��-�)
�������+����6��  

4.3.1 !�<����$	�����	�
���%����*����%�
	�  
                       ��3����5�6�6
���(+��������
4���+(��)
 2 �����H
 ���
+! 

1) ���4
�4
�����1
�����E����7,!�
!2������6��

��C�4��!�  ��(+4���G�+�� 4.51 
�
,���1����3������(��8)5
��	
�
�(��)
��������
)112��
��������� 

2) ���12��
���
!2����������4
�4
�����2�)�
��3����(+���
���(C
�6+�

�����6��  ��(+4���G�+�� 4.50 ��!�
+!�
,���1��������7,!�
!2������������4
�4
����������(���
�


��()5
�( ����46������?�7H
�?�
,!������
� �2�)�
��������?�7H
�?�
,!������
� ���
2�(�
42�
6-(��4����
��
�+ 1����(��81������
��)�
��3����
2����
��)5
1 �����
��
�+ 

4.3.2 !�<����$	�����	�
���%����*����%� 
        ��3����(+��������4���+)
 6 �����H
 ���
+! 
         1) ���4
�4
��������Z����4�
!2����)�
���4
������C�6�
  ��(+4���G�+�� 4.11 

�
,���1����3����5�6�6
����(�(+�6��)
��������(��4�
!2����1���
�6���
����M �(,�����4
�
4
����(+�������Z����4�
!2�����2�)�
��3����5�6�6
���������4�
!2����������4
�4
����
����������,��)5
�����
)1)
���12��
���
!2����������
��� 

2) ���4
�4
����)�
�
�(�����6�����+��6�����4�
!2�����������+������
�(�����
�6���H6  ��(+4���G�+�� 3.64  
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�	�	���� 4.5 ���
4�������3����5�6�6
�����������K�����(������7,!�
!2������������4
� 
       4
����������(���
�
 

+;�����
�	����Q10��0�	�	��% �&	!9.��� ��	
L
	� 

1) ���4
�4
�����1
�����E����7,!�
!2������6��

��C�4��!� 4.51 �+(�� 
2) ���12��
���
!2����������4
�4
�����2�)�
��3����(+���
��
�(C
�6+�
�����6�� 

4.50 �+(�� 

3) ���4
�4
��������Z����4�
!2����)�
���4
������C�6�
 4.11 �+ 
4) ���4
�4
����)�
�
�(�����6�����+��6�����4�
!2���������
��+������
�(������6���H6 

3.64 �+ 

5) 12�
6
���4
�4
�����+����7,!�
!2����)
�����1C����7,!�(+(��
��+���� 

4.31 �+ 

6) ���4
�4
�����2�
6�46�(���6�)
��,�������
���
!2���� 4.31 �+ 
7) ���4
�4
�����2��
��6�����7,!��+��
�
�
 (07.00 
.L 
13.00 
.) 

4.36 �+ 

8) ���4
�4
����(+����6�=)�
������4
�)
����������M 3.55 �+��
���� 
9) ���4
�4
�����2��
���4����7,!��+���(���(�������?�7H
�?

!2���� 

3.07 �+��
���� 

10) ���4
�4
����(+�4�,���(,�5���
!2��
���+��5,��8,���
 3.10 �+��
���� 
11) ���4
�4
����(+�4�,���(,�)
���6������?�7H
�?
!2������
��+�
�5,��8,���
 

3.21 �+��
���� 

12) ���4
�4
������(��81������
)�
�����3�������
)
��-+
���4
���46�(5�6����,��
�
������
 

3.20 �+��
���� 

13) ���4
�4
������E� ����)�
��3������������4���
 2.41 �(���
�+ 
14) 46�(4����H
����K�����(������7,!�
!2����������4
�)

>���6( 

3.98 �+ 

 
3) 12�
6
���4
�4
�����+����7,!�
!2����)
�����1C����7,!�(+(����+����  ��(+

4���G�+�� 4.31 �
,���1��12�
6
���4
�4
����)
�,!
�+����3�(+12�
6
(�� �2�)�
(+���������
���
�����)�
��4����7,!�
!2���������!
 �����3����(+46�(���6�)
���12��
���
!2���� 
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4) ���4
�4
�����2�
6�46�(���6�)
��,�������
���
!2����  ��(+4���G�+�� 
4.31 �
,���1�����4
�4
����(+�8���
!2����(��+�1C����7,!������)�
��3����(+���
4���+��+)
��,���
�������������
���
!2���� 

5) ����6(��C�(���
!2���������3����1��2�)�
�����
��4������!
  ��(+
4���G�+�� 3.76 ��3����5�6�6
���4��6������6(��C�(�����3�����2�)�
��3����(+�2�
�1)

�����������4�
!2������������4
�4
���� 

6) ���4
�4
�����2��
��6�����7,!��+��
�
�
 (07.00 
. L 13.00 
.)  ��(+
4���G�+�� 4.36 ����)
������+  

4.3.3 !�<����
���%����*����%��	��.	� 
        ��3����5�6�6
���(+���
4���+��
����)
 4 �����H
 ���
+! 

1) ���4
�4
����(+����6�=)�
������4
�)
����������M  ��(+4���G�+�� 3.55  
2) ���4
�4
�����2��
���4����7,!���(���(�������?�7H
�?
!2����  ��(+

4���G�+�� 3.07  
3) ���4
�4
����(+�4�,���(,�5���
!2��
���+��5,��8,���
  ��(+4���G�+�� 3.10  
4) ���4
�4
������(��81������
)�
�����3�������
)
��-+���4
���46�(

5�6����,��
�
������
 (+4���G�+�� 3.20  
4.3.3 !�<����
���%����*����'
&�K(%� 
        ��3����5�6�6
���(+���
4���(���
�+)
�����H
  ��3����(+�2�
�1��������4� 

 ��(+4���G�+�� 2.41 �
,���1��)
�8�
���-?�I11C��
��3�����������6(��C�(�+���
(��H� ���
�
��������
���(C
�6+�
 �2�)�
��3����5�6�6
�������2�
�1)
�����������4� 
 

4.4 -.�	���!��	�L���	
��
+��8���L�&	��O����%(	�����
 !*�<P��� /.��K�/���	���	L�&	��0�	

�	��%�����%����*�������!�<����$	�����	��&�+;�����
�	����Q10��0�	�	��%���+&��(	

���.	� 

4.4.1 ��	
��
+��8���L�&	��O����%(	�����
/.�!*�<P��������*�������!�<����

$	�����	��&�+;�����
�	����Q10��0�	�	��%���+&��(	���.	���%��L
K&�(	� 
1�����6��4����?46�(��(��
J?���6����I11���
�
���4(������3;��1��������

���
4�������3����5�6�6
�������K�����(������7,!�
!2������������4
�4
����������(���
�
 
��6�� ��� ���C �����������3� �����
4��6��,�
 �����	
�(�5����C�(��4?��)
5C(5
�(�(+
46�(��(��
J?������
4�������3����5�6�6
�������K�����(������7,!�
!2������������4
�
4
����������(���
�
 �����(+
���2�4�=����8����+� α = 0.05 ����������+�������
+! (������+� 4.6) 
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�	�	���� 4.6 46�(��(��
J?���6����I11��������4(�����������
4�������3����5�6�6
������� 
����K�����(������7,!�
!2������������4
�4
����������(���
�
)
>���6( 

�O�����	�����
 �&	����� χ 2 
��%�������	��� 

�	������ 

��� 0.923 NS 
���C 2.762 NS 
�����������3� 7.520 NS 
�����
�6(���4��6��,�
 5.483 NS 
�����	
�(�5����C�()
��4?��)
5C(5
 0.068 NS 

L
	�!L��     NS  �(��8��  �(�(+46�(��(��
J?��
�����(+
���2�4�=����8����+� 0.05 
   

 4.4.2 ��	
��
+��8���L�&	��K�/���	���	L�&	��0�	�	��%�����%����*�������

!�<����$	�����	�+	�	�&�+;�����
�	����Q10��0�	�	��%���+&��(	���.	���%��L
K&�(	� 

1�����6��4����?46�(��(��
J?���6������������12��
���
!2��������������
���
4�����5�6�6
�����������K�����(������7,!�
!2������������4
�4
����������(���
�
 
��6�� ���(�- ��������(�����61�����4����
!2���� ��4�
!2�������+���
��� ����?�7H
�?
!2�
������G�+�� �����������+� �(�(+46�(��(��
J?������
4���G�+�����5�6�6
����������
�K�����(������7,!�
!2������������4
�4
����������(���
�
 �����(+
���2�4�=����8����+� α = 
0.05 (������+� 4.7) 

 

�	�	���� 4.7 46�(��(��
J?���6������������12��
���
!2����������
4�����5�6�6
������� 
����K�����(������7,!�
!2������������4
�4
����������(���
�
)
>���6( 

�O���� �&	����� χ 2 
��%�������	��� 

�	������ 

���(�-  8.938 NS  
��������(�����61�����4����
!2���� 0.706 NS 
��4�
!2�������+���
����G�+�� 0.219 NS 
����?�7H
�?
!2�������G�+�� 0.926 NS 
�����������+� 3.432 NS 

L
	�!L��     NS  �(��8��  �(�(+46�(��(��
J?��
�����(+
���2�4�=����8����+� 0.05 
 



 44
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